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O=WAS4 1, 000 1, 000 0
O=h=% 48, 780 47, 820 960
E=BSREE 43, 780 42, 820 960
Z Dz % 5, 000 5, 000 0
OF: =g 2, 400 2, 400 0
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D= &4 700 700 0
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HMEN AR 30 30 0
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FaERR Y 6, 369 6, 327 492
IRNEkAG A2 1,015 1,015 0
R A 1, 707 1,684 23
it 520 520 0
A mE 1, 290 890 400
185 ERE 350 350 0
THEESE 694 683 11
Il A 2, 350 2,415 A 65
FeEIKE 253 253 0
EEE 4, 465 4, 465 0
EL 700 600 100
VB4 676 676 0
EBTRTE 1, 202 1,172 30
NS & 775 705 70
MeHy 519 519 0
XA 28, 033 27, 422 611




B H AR T LKA | AR T R o W
QOEHE
e S 5, 552 5, 552 0
Ry 6, 319 6, 276 43
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R A 1, 693 1, 670 23
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A mE 705 693 12
115 R 200 200 0
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THRE Tl o 2 100 100 0
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FI i A2 550 440 110
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RE 4 150 150 0
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